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Ak=== 2,276,0108 28«53 22,761




SA: SEASMY
B soiAme As)
el sgsE Jletxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e EEES[EN=
87,1203 x2H 2 349
206 M=l 1,000 1,000
01 M=4l 1,000 1,000
Osgs Pz Wt
1,000,000& 1,000
401 AIEHIZ R 0HYI 286,760 29,000 257,760
01 Al&HI 281,760 24,000 257,760
Os=2 &4 22,000,000 22,000
O« 24 2,000,0002 2,000
OMZ 4 DA(GHZYS 01X L)
257,760,000 257,760
03 Al 20HHI 5,000 5,000 0
Os+=28H| gHlgxz
5,000,000& 5,000
=2 oliE YR 10,800 7,400 3,400
= 5,400
== 1,620
Al 3,780
206 M=l 10,800 7,400 3,400
= 5,400
=S 1,620
Al 3,780
01 M=8l 10,800 7,400 3,400
Os&= golis 2Hlbl(45ha)
10,800,000 10,800
= 5,400
= 1,620
Al 3,780
B S A A 2,627 6,765 A4,138
< 788
Al 1,839
402 QI2F X201 & 2,627 6,765 N4,138
= 788
Al 1,839
02 QI2tXH= AL (OIXTHE) 2,627 6,765 N4,138
Oetd et s AHHAIA 2,627,000& 2,627
= 788
Al 1,839
SORX D1 2 76,471 71,055 5,416
101 21AH| 60,671 50,455 10,216
04 JIZtN2Z2 XS 2=+ 60,671 50,455 10,216
OLthI| &g IfYy 60,671
-JlZ2s 2,276,0102 6 *4E 54,625




SH: SEAIM
B soiAme As)
el s8sE Jlgtxd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e EEES[EN=
87, 12021462 522! 1,046
4HRE2 U JIErR YY)
5,000,000 5,000
201 2= 12,800 17,600 4,800
01 At22t2l] 6.800 11,600 24,800
O+ 5 E2= 2,000,000& 2,000
o=l Yxt2 120, 0002 1 Ch*20 2 %22 4,800
2 ZZ2H| 6,000 6,000 0
OIRI| 2% RHI(SFH S)
6,000,000& 6,000
206 M=l 3,000 3,000
01 M= HI 3,000 3,000
Onthd| &ed a7 3,000,000& 3,000
sEolg orEae| X2 350 400 A0
== 105
Al 245
201 Ler23| 350 400 A50
= 105
Al 245
01 AtR2t2|HI 350 400 A50
O=&glet orEzte] H2(404)
350,000 350
s 106
Al 245
S3E sgel g2 YH |4 2,000 2,000 0
S 600
Al 1,400
206 M=l 2,000 2,000 0
= 600
Al 1,400
01 MZH| 2,000 2,000 0
OS=sgegs sisgs Nd
2,000,000 2,000
=S 600
Al 1,400
IEEAS JIBES 1,898,424 436,726 1,461,698
Jl 21,970
=S 55,010
Al 1,821,444
SRS SIAY 1,600 21,300 219,700
== 480
Al 1,120
307 212+01& 1,600 19,300 A17,700
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1,800

A950

AN950

MEE
Ofl &k2h

19,000

19,000
19,000
19,000

11,000

11,000

11,000

4,000

4,000

4,000

26,100

18,500

18,500

Ofl &F2H

19,000

19,000
19,000
19,000
19,000

19,000
11,500
3,450
8,050
11,500
3,450
8,050
11,500
11,500
9,000
2,700
6,300

iy

H

Iy

Al

2,500

750
1,750

4,000

H

1,200
2,800
4,000

Iy

Al

1,200
2,800
4,000

iy

Al

4,000

1,200
2,800

27,900

H

Al

8,370
19,530
17,550

5,265
12,285
17,550

W

Al

Iy

Al

17,550

5,265

H

- ESS

- SRA(E) - HIRAY

S LRE-L

(2650t)

%

19,000,000

307 212+01™

19,000,000

307 212told

(320E)

IH&E AL
ZHI(1208)

9,000,000&

K1
IH

0l 4 Z I (200E)

2,500,000

no
H

o

H

S TH

Kk

302 Ol

4,000,000&

307 212+01&

17,550,000




SH: SEAIM
3 gdys 29
&2l JISALE J|BHEE (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 12,285
402 2I2F X201 & 10,350 7,600 2,750
== 3,105
Al 7,245
02 2IIXHZ AN 2 X (01 TR 10,350 7,600 2,750
Ogr=arel STsH X2 (1057H)
10,350,000& 10,350
= 3,105
Al 7,245
2dSery 2dst 10,000 10,000
307 gl2to| & 10,000 10,000
02 QIZtEHAEE X 10,000 10,000
OLSAZ FXIR(1,390%)
10,000,000& 10,000
A= S5 17,500 7,500 10,000
< 8,750
Al 8,750
402 QI”F X201 & 17,500 7,500 10,000
= 8,750
Al 8,750
02 QI A2 AL E R (0IHTHE) 17,500 7,500 10,000
O=aty 28 23AE (2HA)
17,500,000 17,500
=S 8,750
Al 8,750
=M EE 49,370 39,390 9,980
< 14,811
Al 34,559
301 EtE NS 49,370 39,390 9,980
= 14,811
Al 34,559
14 DBt 23 49,370 39,390 9,980
OIS EE JH XI& (34 L)
49,370,000 49,370
= 14,811
Al 34,559
TAIZ YA AFZEIRIME 28H] X 21,105 17,112 3,993
Jl 7,035
Al 14,070
307 glztol & 21,106 17,112 3,993
Il 7,035
Al 14,070
02 2B YA E X 21,105 17,112 3,993




SN SREASIM T
B =oiAme As)
&2l JISALE J|BHEE (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OZARMLE ALITRESSH KR (370
g) 21,105,000 21,105
| 7,035
Al 14,070
IAMZ MaE SA=Y AIJ 3,302 3,600 PAVAS 3]
| 1,651
Al 1,651
307 QIZt01 A 3,302 3,600 JAVAS S]
| 1,651
Al 1,651
02 QIRHEAAIH B X 3,302 3,600 A298
OZFAIZMAZ EX7Y X2 (1,834kg)
3,302,000& 3,302
| 1,651
Al 1,651
IAZAE SHEHIE X& 6,000 6,000 0
& 1,800
Al 4,200
307 QIZ2t01 A 6,000 6,000 0
= 1,800
Al 4,200
02 QIRHEAAIH B X 6,000 6,000 0
OZAMZMAs HAHIY X2 (1002)
6,000,000& 6,000
& 1,800
Al 4,200
SIMSOIME (LB SOME) 29,106 40,320 A11,214
| 12,474
Al 16,632
301 LB F 29,106 40,320 A11,214
| 12,474
Al 16,632
14 JIEt2 43 29,106 40,320 A11,214
UBISHMSOMMIE (129K)
29,106,000& 29,106
| 12,474
Al 16,632
SIMSOINIE (ALSI B S0HHE) 1,260 0 1,260
| 630
Al 630
301 LB F 1,260 0 1,260
| 630
Al 630
14 JIEt2 43 1,260 0 1,260
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SH: SEAIM
3 gdys 29
&2l JISALE J|BHEE (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 25,000 0 25,000
= 7,500
Al 17,500
02 QI TH=AIEEE(0IETHE) 25,000 0 25,000
OAHMBAIE X2 (1)
25,000,000 25,000
=S 7,500
Al 17,500
A 0lE g8 2oz XE 1,515,653 0 1,515,653
401 AlEHIZL SO 1,515,653 1,515,653
01 Al&HI 1,515,653 1,515,653
SA 24| 1,515,653,000& 1,515,653
Ege 8 s4E AHIFY 890,965 1,147,095 A256,130
= 191,39%
7l 117,510
= 105,833
Al 476,227
JIEEZEE A0l 83,820 82,104 1,716
101 21AH| 57,460 56,284 1,176
04 JIZtN2Z2 XS 2+ 57,460 56,284 1,176
OIIs4Y A=0188 57,460
-JlZ2s 2,349,160 4 & +6E 56,380
AR RBENLY
89,9202 x4 H+3 1,080
201 er23| 5,560 5,020 540
01 AtR2t2|HI 5,560 5,020 540
OIIEdY A= JIZHHZZ2XN HEAIE H
H=EH(3E, 23) 350,000& *22 700
OOHZ2IItHAIZE & 7MY 22SAHI(6
He) 9,000 »3E »180& 4,860
206 M=l 20,800 20,800
01 MZH| 20,800 20,800
O2ZHEg S| 10,000,000 10,000
OFNg & AFCISTAUL S|
180,000& »60= 10,800
HEgaE & NOI=EMEY HgES) 107,924 137,710 N29,786
= 59,341
Al 48,583
206 MH=HI 70,004 98,710 N28,706
= 41,307
Al 28,697
01 MZH| 70,004 98,710 N28,706
OH=TSYE oILES(238,050F)
70,004,000 70,004
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SH: SEAIM
3 gy 29
&2l JIERE d FR4E AHISA (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,09
Al 1,755
HgetE S T (NHHRMAAEI] SHT) 8,910 13,662 N4, 752
= 4,455
Al 4,455
201 er2 3| 8,910 13,662 N4, 752
= 4,455
Al 4,455
02 S3=gHl 8,910 13,662 N4, 752
OXrZRHAAFXI(GPS) S&IZ(1500H)
8,910,000& 8,910
= 4,455
Al 4,455
HEAE S X2 (S PSHLI| 4Al HRAZ 3,600 6,000 22,400
SHA =)
= 1,800
Al 1,800
301 eEetE2 N = 3,600 6,000 A2,400
= 1,800
Al 1,800
14 0Bt 2a s 3,600 6,000 2,400
AR PS ST HAl H& B2 MA
T=(60CH) 3,600,000 3,600
= 1,800
Al 1,800
feeE S NA(SHE=L2Y £ ASHISKIY) 173,600 201,600 /28,000
= 86,800
Al 86,800
101 @1A4H| 149,600 161,600 212,000
= 74,800
Al 74,800
04 JIZtN2 2N S 2+ 149,600 161,600 212,000
ONELSAIE & SHEL 28 JI2HH 2
22X 2FY 149,600
-Jl22(1-62) 2,096,270 x5 +6E 62,889
= 31,444
Al 31,445
-Jl2a((7-128) 2,006,270 x5 H«6E 62,889
= 31,445
Al 31,444
-AxtResd 80,240 x5 * 122 4,815
= 2,407
Al 2,408
-ORt2f2=¢ 10,0302 x2& +3652 7,322




SH: SEAIM
3 gy 29
&2l JIERE d FR4E AHISA (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,661
Al 3,661
-AUEE AEEREES 11,685,000& 11,685
= 5,843
Al 5,842
201 et 3| 4,000 10,000 26,000
= 2,000
Al 2,000
01 At22t2lt] 1,000 5,000 24,000
ONHBASAIE BE2 & MRES S 7Y
1,000,000 1,000
= 500
Al 500
02 S3=gl 3,000 5,000 /2,000
ONBAL=AE & SHEL SAB(EL 3
U2 ¥ |FFH ) 3,000,000 3,000
= 1,500
Al 1,500
206 MH=HI 20,000 30,000 10,000
= 10,000
Al 10,000
01 MHZH| 20,000 30,000 10,000
Ogo= U AS%E S 7Y
20,000,000& 20,000
= 10,000
Al 10,000
THIS GIZHAl X2 (o2 al) 31,584 65,784 34,200
= 22,115
Al 9,469
206 M=Hl 3,064 3,064 0
= 2,151
Al 913
01 MHZH| 3,064 3,064 0
OT7HS olgHal(AR2 STt 1,705F) 3,064
—THIS GlgeRal 3,043,000& 3,043
= 2,130
Al 913
-AgEE= 21,0003 21
= 21
307 @I2t01 & 28,520 62,720 A34,200
= 19,964
Al 8,55
02 LB AANHEE 28,520 62,720 A34,200




SH: SEAIM
3 gy 29
&2l JIERE d FR4E AHISA (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF MY olgea(ME 72 st 31,600F)
28,520,000& 28,520
= 19,964
Al 8,556
THS oAl N2 (FHS WAl HE 2H35HM) 9,900 8,909 991
= 4,950
Al 4,950
301 22N 9,900 8,909 991
= 4,950
Al 4,950
14 JIEt2d=3 9,900 8,909 991
OTHA WARE 25HH X (30,0005)
9,900,000& 9,900
= 4,950
Al 4,950
THS oAl X2 (M olgesl BSAl=HI) 4,800 6,000 A1,200
= 2,400
Al 2,400
301 22N = 4,800 6,000 1,200
= 2,400
Al 2,400
14 JIEt2d= 4,800 6,000 21,200
OF MY olgehsl HSAI=HI(8005)
4,800,000 4,800
= 2,400
Al 2,400
THS oAl X (P HEHI) 1,000 2,99 21,999
= 300
Al 700
301 LEtE NS 1,000 2,99 1,999
= 300
Al 700
14 J|Et2 4= 1,000 2,99 1,99
O7HI HEHI(1005) 1,000,000 1,000
= 300
Al 700
THS HAHE 25HH X (EHI) 10,560 10,558 2
= 3,168
Al 7,392
301 eEetE2 N = 10,560 10,558 2
s 3,168
Al 7,392
14 JIEtE2 &t 10,560 10,558 2




SH: SEAIM
3 gy 29
&2l JIERE d FR4E AHISA (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O7HIS #AFE 2atH X (32,0005)
10,560,000 10,560
= 3,168
Al 7,392
Jl=sot 2gatel Xz 6,000 6,000 0
= 3,000
Al 3,000
307 212+01& 6,000 6,000 0
= 3,000
Al 3,000
02 LB HAHE L 6,000 6,000 0
Ootasot 282l X (1)
6,000,000& 6,000
= 3,000
Al 3,000
SoA 2S+E 13,481 13,200 281
s 4,045
Al 9,436
201 2= 281 0 281
[ 85
Al 196
02 S5=24g4l 281 0 281
O3=2 doi=2d 281,000 281
= 85
Al 196
301 LEetE N = 13,200 13,200 0
= 3,960
Al 9,240
14 0Bt 2a3 13,200 13,200 0
2 ¢ 1,100,000~ 128 13,200
== 3,960
Al 9,240
4SO HSE Xel 5,000 4,132 868
= 1,500
Al 3,500
201 er2&| 5,000 4,132 868
= 1,500
Al 3,500
01 AtR2t2lHI 5,000 4,132 868
ORALHIISHR YLUHA+2
2,000 +2,500kg 5,000
== 1,500
Al 3,500




SH: SEAIM

B =oiAme As)

Rl JIEEY 2 S8E AHIEA (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
INSHEGY XA SAAS 10,000 10,000 0

& 3,000
Al 7,000
402 QI2E X201 ™ 10,000 10,000 0
& 3,000
Al 7,000
02 QIZEXH2 A 22 (01 TH &) 10,000 10,000 0
OINEXAYTHLAAIE (1)
10,000,000& 10,000
= 3,000
Al 7,000
AFMA L LA 13,700 15,460 A1,760
201 Let2| 12,700 12,700 0
01 Ar22eltl 5,700 5,700 0
OIIIELHEENMA OlSAE LXtE
1,200,000& 1,200
OJsgesn EX diis S
1,500,000& 1,500
OJsg4d Al =24| 3,000,000& 3,000
02 2324l 7,000 7,000 0
OJIsgaxzy !X 2 2=2(20)
3,500,000 *2CH 7,000
202 (4t 1,000 1,000
01 =LHO4 b 1,000 1,000
OJ=Yd 2 =& ol
1,000,000& 1,000
sguRsaa N 193,450 281,827 A88,377
| 116,070
Al 77,380
301 LetENEZ 193,450 281,827 N88,377
| 116,070
Al 77,380
14 J|EI2 A3 193,450 281,827 A8B,377
O DLRIATIR(1,4602)
193,450,000 193,450
J| 116,070
Al 77,380
ReSaE S aXIR 162,000 180,000 A 18,000
= 81,000
Al 81,000
301 LetEAEZ 162,000 180,000 A 18,000
& 81,000
Al 81,000
14 JIEt2 43 162,000 180,000 A 18,000
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100
100
100

4,848
4,848
2,000

MEE
Ofl &k2h

3,920

3,920

3,920

2,780
2,780
2,780

6,500
5,500
3,000

Ofl &F2H

162,000
81,000
81,000

H

Al

3,920
1,920
2,000
3,920
1,920
2,000
3,920

Iy

Al

iy

3,920
1,920
2,000
2,880
1,440
1,440
2,880
1,440
1,440
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1,440
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Al
Jl
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14 J|Et
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SH: SEAIM
3 gy 29
&2l JIERE d FR4E AHISA (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 1,600 1,600 0
OFNE M2 EHE I (2H4)
1,600,000 1,600
= 800
Al 800
TEE FatE R0l X 20,800 17,500 3,300
== 10,400
Al 10,400
307 212+01& 20,800 17,500 3,300
< 10,400
Al 10,400
11 ABI= XA 2 E 20,800 17,500 3,300
OgEE Stt2 120 XV (2082)
20,800,000& 20,800
= 10,400
Al 10,400
HOlAZ! (g S X (A ARSI EE A=) 2,838 0 2,838
= 1,419
Al 1,419
301 22N 2,838 0 2,838
= 1,419
Al 1,419
14 JIEt2d=3 2,838 0 2,838
OgmA2l ofget BESAIEHI(473%)
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